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Attempt all questions.
|/t T wifad
SECTION-A (@UEH)
1. (a) Whatdo youunderstand by a categorical proposition ? Explain
with e¢xample the qualitative difference in categorical

proposition. 5
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What 1s meant by dismbution of terms 7 Do negative propositions

distribute their predicate ? Explain,

92} w1 enfa @ =0 aed £ 2 F Fueres dear s faiy
Y B FE T 2 = wifa

{(b) Reduce the following propositions of their logical form: 5
frefafiaa aRawl M wfes e § wimfi wifad .
(1) Only children can enter into the park.
Heel T & W 1§ g0 F Tl § |
{iy Every teacher is not learned.
gl T fagm =@ 51
(i} Villagers are mostly hardworking.
Tt o sifea wftsndt 3
{(iv} Under no circumstances a lion will cat grass.
fadt o erera 8 IR wm wE =

{v) Few clothes are expensive.
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i Or (3reram)
‘Change the following according to the instructions given along side :
e fed 1 e # AR e
() Allmathematicians are logicians. (Converse)
Tuff TR T (afad)
(i) No students are members, {Contrary)
1 ot farenddl wew i ¥ (forwdi)
(i} Some citizens are not voters, {Obverse)
FS A T el & | (W)
(iv) No men are perfect, (Contrapositive)
w1 oft wgey ol = €
(v) Some students are intelligent. {Superaltern)
o et gfgmm & (& 3wfea)
{a) Testthe validity/invalidity of the following syllogisms: 5

(b)

Tr=fafiaa =m-giedl #) Sy +1 e SifE .
@) All-1
(i) EAO3

Prove that in a valid syllogism the conclusion must be negative
in the 2nd figure. 5
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Or (RgaED)

How is the potion of "Existential lmport’ used to criticise the

traditional square of opposition of propositions

e AR F AN fRY YER qeaE B TRgETd
fay ot =1 awie wEd £ 2
SECTION-B (@UZ )

L se truth-table method to determing the logical status of any twe of

the tollowing statement Fortms | 45

frrifafen g ArER 0 @ fwal @ w1 afEs ferfa we
et fafy gro Fvife s .
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(a)  Symbolize the following 4

a1 I is false that if he goes to the school, then he does not
study,
gz AT & e Al 5w e A E, 9 o i w1
(i} Not hoth Ravi and Rahul will be selected.
o s e 2 R e
iy The party cannot win the clection if 1t gives tickets to the
culprits.
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(b)

(5) 5273
(iv) Unless the film s a super hit, the director v-@lli:g{be(fﬁrnous.

w9 % fthen qut fae 7 2, Ffere o =4 2

Determine the validity/invalidity of any swe of the following
arguments by reductio ad absurdum method 3,3

=T yevi fafa g frafafes § @ 6 @ =1
%um/aq%‘fwfezﬁﬁi’r:

@ pog
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(gr)>~p
s~ p

(iii) p>(g.r)

s~{gr)>~p

5. Construct a formal proof of validity for any swe of the following

|

arguments : 5.5

freAfefia & A iRt St Qe =01 STrehrerTa Wt wege FRA

@
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Symbolise any mwo of the following propositions into the
logical notations of propositional functions and quantifiers :

4

fFriferfiaa genaerl 1 TohamETeT =Rl qer afmom) &
EGIEAETRECT T i

fi) Soldiers are never cowards. (Sx,Cx)
e oot off w6 # (Sx, Cx)
(i) ™ot every guests stayed for dinner. (Gx, 8x)

- & ford vt e = = (Gix, Sx)



(7) 5273A

(iify Only members can use the front door. {Mx, Fx)
ol HE B W % T oy 3R Ty

(i\dx, Fx)

®) ' Rewrite the following in terms of stroke function : 3
Frefefem =1 Wi wem 3 fafgd ;
.‘ p3(~qvy)
{c) | Define the following in terms of ‘~* and ‘v’ 3
' frfafem #1 < w < & ot Fifd
®o9)>(~po~n)
SECTION-C (@Us'®")
7. (a) Writc short notes on any pwo of the following : 5,5

frafafan fohl gt w e foofert fafes .
® Argument ad Hominem

AT T
(ii) Fallacy of Composition

Hefd dwa
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(b)

(8}

i) Fallacy of False Cause

e Y aRe

Identfy and explain the fatlacy commitied in any one of the

following examples . 3

frafefes wrol § @ f5d o § F9- 73w
YEEIiY, 3R 39t = wifad

iy

(i}

There is no such thing as knowledge which cannot be
carried into practice. tor such knowledge 15 really no
knowledge at all.

T & S U B A e E e A v @

His parents are old. his wife is dead and he has a daughter
of marnageable age. Do consider these tactors before
sentencing him.
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